SUTTNER

Pressure Washer
Parts Display

comes fully assembled and
stocked with multiple quantities of
the most popular components
purchased by pressure washer
operators. You're ready to sell as
soon as you remove the display
from the shipping box and place
on your showroom floor. Free
standing with easel legs or
pegboard hooks allow you to
position the display immediately.

How to order:

To order parts display or reorder
package parts, complete fax order
form on the back. Fax order form
to SUTTNER 800-821-0660.

www.suttner.com

Parts

'""""‘.Accessgri es M22 Screw Couplers

allow for quick
‘-“i | | N | attachment of parts
L Csurraen 2 “2 . S SUTTRE " and accessories to
. 5 Pl [ European fittings.

Hose

r,.,m.“ o ourreen # Warvuen & [ surmien # SOl M - 1/4” MNPT and one
36” Molded " l g ) b end swivel, 25’ length,
Grip Lance N""’q N"""e N“""E\ N ppme el Y 3000 PSI

x \ f‘\_

S

!

— e .
SUTTHNER ! TTNER 3 SUTTNER # ‘ SUTTNER #

Y 0uick | “Quicl M22 x 1/4” QC Plug

Q TR ok
- ‘fCoupler § \Couple Co attach European
1 = accessories to your
Hansen® Quick.. | A = B QC Lance
Connect Socket : @ ﬂ = _ =
and Plugs -~

R —— ‘QUHNER—" 's:rm;ﬁ—_;

Coﬂl;;ilg C%nj;)clg c%ﬂ';?f;

) it Spraying Systems Co.®
1/4” QCMEG quick
connect nozzles

include color coded
protective guards,
denoting 0Z 15Z 257 40Z
sprays and soap nozzle

- - R — F==y
UTTNER & [ suTTNER @ L‘ SUTTNER

JOER. b SliE § 8

| Nozzle | Nezzle §| Nozzle

O-rings
Assorted

- — = PTFE Tape

SUTTNER @ | cr ol SUTTNE i 1/2” x 260”

ST-1500 Spray Gun L" il 2 :

with 3/8” FNPT inlet '

and 1/4” FNPT outlet
is the standard
throughout the
commercial/industrial
pressure washer
industry and on many
“do-it-yourself”
machines

Turbo Nozzles

SUTTNER # ||

Snmp !
Injector I Detergent

Soap Injector
3/4" F x 3/4"M

RACK DIMENSIONS

Rack stands
42 inches tall by

18 inches wide Increases counter ticket sales!

SUTTNER

Phone 800.831.0660 Fax 800.821.0660 E-mail sales@suttner.com

01/12P



- D R SU0U-4 Do0OU
A - .
= screw
xr AS couplers
Please mark options below and
fax order form to SUTTNER P200040800 | P200040800 | P200040810 | P200040820 | P200040820 | P200040830
1/4” F Screw |1/4” F Screw |1/4” M Screw| 3/8” F Screw | 3/8” F Screw |3/8” M Screw @ q
800'82 1 '0660- Coupler Coupler Coupler Coupler Coupler Coupler n
@ 00 0 e ®
To Order Parts Display:
[_] #P999526120 Complete Parts Display \{,nipples
P010000561 | P010000562 | P010000562 | P010000563 | P010000564 | P010000564
1/4” F Nipple [1/4” M Nipple|1/4” M Nipple| 3/8” F Nipple |3/8” M Nipple|3/8” M Nipple
Retail Pricing Options: ® @O O oo D
UPC version A bar codes are on each package. a
Package cards can be included with or without - 4 quick
= P200045700 | P200045710 | P200045710 | P200045720 | P200045730 | P200045730 couplers
retail pricing, please mark preferred version below. ; - 1/4” M Quick | 1/4” F Quick | 1/4” F Quick | 3/8” M Quick | 3/8” F Quick | 3/8” F Quick
)

Coupler Socket]Coupler Socket|Coupler Socket]|Coupler Socket [Coupler Socket]Coupler Socket

|:| Pre-priced package cards @ @ : @ @ @ @

|:| Non-priced package cards 4 quick

couplers

P100000140 | P100000150 | P100000160 | P100000160 | P100000170 | P100000170 P

1/4” M Quick | 1/4” F Quick | 3/8” M Quick | 3/8” M Quick | 3/8” F Quick | 3/8" F Quick

Coupler Plug | Coupler Plug | Coupler Plug | Coupler Plug | Coupler Plug | Coupler Plu
Packaaod OTe @D [O
Packaged Parts: (25

) . Lo quick

Write desired order quantity in each . 4 nozzles

product box. P900000D45 | P900001545 | P900002545 | P900004045 | P999504500 | P839006540

0°'x4.5Red |15 x4.5YIw | 25 x 4.5 Grn |40°x 4.5 White | 0°,15',25',40°x | 65'x 40.0 Black
Quick Nozzle | Quick Nozzle | Quick Nozzle | Quick Nozzle |4.5 NozzIe&S.| Soap Nozzle

(3 S 2 I S 3 oy 3

Fax order form to SUTTNER 800-821-0660. [

Example: _®_

P200330500 | P200301025 | P999000060 | P700000001 | P200060600 | P200415505

F x F Adjust. [3/8”Mx 3/8”F| Assorted | 1/2”x 260" |3/8”Mx 3/8”F|1/4” F 1750 PSI

Nozzle Holder]  Swivel 0-rings PTFE Tape Injector Turbo Nozzle
P070000470 r —— - . -

s el S XS aei e

P201500910 P200059935 | P400357545 | P900000009
: ST-1500 Multi-Reg | 3000 PSI 4.5 |1/4”QCx /4" M
- Spray Gun Nozzle Turbo Nozzle| Turbo Filter
@ @ X i ﬁ Ll I P080032008
2 i = 1 @ ! 14 x 25
i 3000 PSI Hose

P070000470 P070000470
36” Molded 36” Molded

GripLance | | Grip Lance P999000019 P700000100
347 Fx3/4"M 12 0z Bag
Soap Injector Detergent
. onta
Payment Options O check Enclosed Remitu.s. Funds  []Charge My Credit Card []Master Card  []Visa
‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ ‘ Verification # ‘ ‘ ‘ Phone (800) 8 0660
Card Number: on card back: Exp. Date: [/
a 800) 8 0]615]0.
Print Cardholder's Name: Signature: il sales@ e

Company Name: P.O.# Phone: eb er.co




